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25 3[0] (14410 A 24 H : Keywords --- 356, Ef. SRBEROM)
EEOIVEE. EEH LV - ©H
-LETEEOARR. - Bfiz= f(xy) 2 (a,b) TEMHIAREL 5. ZD& X,
f(xy) = f(ab) + fu(@ b)(x — a) + fy(a b)(y — b) + o(+/(x— @2 + (y — b)?) (x.y) — (ab)
79 h, REDOEZED RWT,
z= fy(a,b)(x-a) + fy(a, b)(y - b) + f(a,b)
& fa b)(x—a) + fy(a,b)(y-b) - (z- f(a, b)) =0
5 (XY, DAREANEONS. ZoAERNX, B z= f(xy) D55, 2R EDOIEZ HH
LTTE3 A0 T, B EHOAERE XIZNns., 202k EDOIHZHEHT 5 Z & 2
D—REBE NS,
3-2 KD AREN. - ERITteR E LT,
(X,y,2) = (a b, f(a, b)) + t(fx(a, b), fy(a, b),-1)
LERES. tZHEELT,

x—a y-b z-f(ab)

@b flab -1
5. INEEHROFERNE NS,
3-3. EEHDOMDIE. - (X y)-FH iz, (x(t),yt) ZHB <. ZO& EEMBEEF®) = f(x(t), y(t)
Dt =ty TOWIE.

G = 50 Y0 - X (1) + 5 () () Y ()

b,

Zhid, BB T(xy) &2 (X@),y®)) ICHIR L T TE 2t 228 TH0BF) Dtk 5%
HIHANTH5.
3-4. RS DIEBDZHATRED =D D+ M.~ (8, b) IZB VT, fi(a b), fy(a b), fx(a b), f,x(a b)
PIAEL, B U, fiy & T iR o id, (a,b) I28WT fy(ab) = fy(ab) &7 5.

SEADRE.
BV - IRRRO TIFEAD KD T,
BB DI IE.

BlRE-3-0. [#kk, Ao HFER]
DEDOMD (a f(a)) TOEMRE B LXOEROAZ KD K.

(1) f(x) = X2 2)fx)=x+x+1

BIRE-3-1. [E# 5 1]
BB TREBIE z = f(xy) D7 T 7 (XY, f(x,y) (& LT, A (fx«(a b), fy(a b), —1) I,
(@b)izBWT, BFHICERT S & Z2mE.

PIEB-3-2. B Fim, EiRO ]
IRDBEED (a, b, f(a,b)) TOENFHS LT, HERORXZ KD L.



(D Tey) =xy (2) f(xy) = +¥

(3) f(xy) = + 2xy* + 2X°y° 4) f(xy) = ﬁy? (ab) # (0,0)

Bl RE-3-3. [ & BB DM

DEDEBEEK L TTELEEFGR) Dt TOMD % GHREBROMOEEZHWTRKD X.
(D) f(xy)=x+xy+y, x=2t2, y=t+1

(2) f(x,y)=sin(xy), x=2t+1 y=t>+t

(3) f(x,y) = €sinfy) + €sin(x), x=log(t), y = log(t)

(4) f(x,y) = X +Vy°, x = cost,y = sint

(5) f(xy) = €, x = cost,y = sint

BIRE-3-4. [ & BB D]

IRDBEED (X,y) = (2 + cosb, sinb) IZ B} 5 6-5 % BB O M aEE2 W Tk X.

(1) f(xy) =x+y (2) f(xy) = xy
- 2 1
(3) f(x.y) = tanh(C + y?) 4) Trap

Bl ZE-3-5.[FHE & i & DR D]

ROBEBIZESICB VT, [fn 2388 L. £/, ZOMBODZ572z=013 XDk
NS TWVWEN?

D) f(xy) = +y 2 fxy) =x+y

(3) f(xy) =X -y (@) f(xy) = x* = 3xy+y

TERE-3-1. [ B Tor]

RO D (a,b) TOESEH D HIERXZ KD XK.

(1) f(xy) = tanh(e + y?).

) f(xy)= V1-x2-y2 (a®+b?<1)

TERB-3-2. [ Fif & D% 4]

B f(xy) = R -V IZBI 525 7GE. 257 LD (ab, f(ab) 281 3 Py %
FEZBD., ZOBFHIZBEWT, G Py & 0 EANCH 2% L NMUOMEERZ KRE L. (22
CHIE. BTEE () FHEDSDS T 77 BT, BFHE (xy) Tl & i —Et k)
TERE-3-3. [& kB

f(xy) Z(XY) EREPS D2 KT T 5.

(1) Hub (L, 1), 1D (1+cosh, 1+sing) ED f(xy) D 0-1543 % & R BEEZE W TRYE.
(2) Q) D G- P 0 LB EDRZERRE L.
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